
MOTOR : CABEZA DE CILINDRO	
 

CABEZA DE CILINDRO 

  

 

Rating: Not Rated Yet 
Price: 
Variant price modifier: 

Base price with tax: 

Price with discount: 

Salesprice with discount: 

Sales price: 

Sales price without tax: 

Discount: 

Tax amount: 

Ask a question about this product  

 

Description 

Ref. Título Código

1 CONJUNTO CABEZA DE CILINDRO 85-120080238

2 SOPORTE ARBOL DE LEVAS 85-140540011

3 GUIA DE VALVULA 85-120120012

4 JUNTA CABEZA DE CILINDRO 85-120150050

5 JUNTA EMPALME CARBURADOR 85-170440031

6 EMPALME CARBURADOR 85-180420285

7 ABRAZADERA, EMPALME CARBURADOR 85-380960073

8 BUJIA 85-270960004

9 ESPARRAGO M6X32 85-380180075

10 O-RING 9X1.6 85-380840361

11 ESPARRAGO M6X65 85-380180076

12 TORNILLO M4X20 85-380200062

13 TUERCA HEXAGONAL M6 85-380370003

14 TUERCA HEXAGONAL M8 85-380370010

15 PERNO 10X16 85-380600094

16 TORNILLO M6X100 85-380140176

17 O-RING 27X2.0 85-380840377

18 LAMINA, JUNTA EMPALME CARBURADOR 85-170440057

                        1 / 2

https://cprrepuestos.com.ar/images/stories/virtuemart/product/cabeza de cilindro 2.png


MOTOR : CABEZA DE CILINDRO	
 

Ref. Título Código

19 ARANDELA 8 85-380450441

 

 

 

 

 

Powered by TCPDF (www.tcpdf.org)

                        2 / 2

http://www.tcpdf.org

